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IIpukyaan po3B’A3yBaHHA KBAJAPATHUX PIBHIAHB 32 GOPMYI010

2x* +5x-3=0;
D=b*-4ac=25-4-2-(-3) =49;
VD =49 =7,

b-D_-5-7_ 12

: 2a De? 4
b VD_-5+7 2 1
R, 2.2 4 2

Bionosios: —3; 0,5.

X243 X+7
2 4
2X2 +BX=X+T;

2x* +5x—7=0;
D=b*-4ac=25+4.2.7=81,
VD =+/81=9;
,_-b-vD_-5-9_ 14 1

| x4

1 = = _3*;
2a 2-2 4 2
-b+JD -5+9 4
X2: = :—:1
2a 2-2 4

Bionosion: —3,5; 1

X(X+1) = 56;
X?+x—-56=0;
D=b*-4ac=1+4-1-56=225;
VD =+/225 =15;
~b-+/D -1-15
X, = = =-8
2a 2-1
~b++/D -1+15
e = =7
2a 2-1
Bionogiov: —8: 7.

5x* +1=6X;

5x* —6X+1=0;

D=b’-4ac=36-4-5-1=16;

VD =+/16 = 4;

Xlz—b—ﬁ_6—4_2
2a

T 25 R0
~b+/D 6+4 10
X2: = :—:l_
2a 2-5 10
Bionosion: 0,2; 1

—2x*+8x+2=0 | + €2

X* —4x-1=0;

D=b*-4ac=16+4-1-1=20;

VD =+/20 = 2/5;

Xlz—b—ﬁ:4—2£:2_£;
2a 2-1

" :—b+\5:4+2\@:2+£.
2a 2-1

Bionosion: 2+ /5.

4x* +5x+3=0;
D=b*-4ac=25-4-4-3<0:

Bionogiow . kopenie nemae

X*—2x+1=0;
D=b?-4ac=4-4-1-1=0;
b 2
2k
Bionosiow: 1.




